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Ex. Ts ths a function ¢
ER ., R, Fon=y ® yi=x.
Answer . No , becouse it does NoT assign o Uniqne element- of
codorain R Fo, let’s say, 1 as we have GE1)'=1.
Remork . A Punchion £:x—Y dasigns Uniqne element
Foy of codomain Y o very elmest o of domain.

E} ) Find all O\G(R S(ACL ‘H\o\'&: ‘H\e, ‘Po‘llocofha IS a '@MV\Q"leh:
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'PGX\= i X2
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Zelubion.  Since -gCQ.) should be C«)el[-—c[c-P-{nfcl, ae heed to have

2-1 — -2-1—&1. So &2=3.—|Ferepore.
a==*J3 .

Co m?osi‘l'ion 01E 'Pund‘l'ons

Ao B !=> The cmrPos‘rlre et of ¥ ardﬁ is

31%—"C 3°-P:A_)C,

3%) (0 = gF@) -



E fR—R, foo=x+1 ]=~c 4T R—R ,

4R &, 3@0:95 6-%) o= (xdy

. FR3E—R, foo= 1
Cdm‘[‘ (s "‘}a"i ?
Answer. £ is NOT G‘E:Pl'ntc[ as Co-c‘arnou'n (7£ 'F = = clomou'n 019 -f- .

Ex. T:R\3e§ —»R\&E, Roo= Yo o
Cohat (s ‘Po{l?

Anseer . o R\ 303 —» RN\ 308,
@o-{z\ o) = -?Ci@a: 1 = o .

1 /x
S b is the |'cfcrrH;3 Function IR\Z on (R\%%'

%
. Tor o\nté Se:t‘ A, IA:A—-vA ) IA('X\=?( is the iclen-l'f%a'fuhcl:l'on
on A
Ex_- Tor ama ‘F'Mnc[‘l‘on "\?". X—=Y , e have

-rio IX = '(l = L(O'F .

Ex. Com“:fd:e the hnissing in-Poﬁna“,'lbY\, i ana.
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'IQ‘&) = A4, (X)) = \lv\ y wna
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Solurhm (DOMO\I‘Y\S O\nJ Co—c[omal'ns 0:2 ‘E‘ 0\?\&{ -PZ aye WSSI'na.
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2 should cortain imaae of ‘Pl = R < 2

P shold assign vales on ¢ =y © =
So 7 can be any seb- iP):igA QRZO.
Tor instance , we can sy
£|=®20——)‘\R2°/ 'E\C?O='x+l
£ TRZG_,‘]P\, £ o=Jx . =
Image o o Punction F:X—Y s
() = $feo| xeXg.
S it is a subsek of the co-domain Y.
Ex.Chat is the mz(jeo?— PR, R Ao =oC 8
She .+ 2<A = 3SX J=> im(f—):RZ%.

38y = 3=(ffn_)3 and Zssfa_
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w suwg L17] \'T) CAD ' VWl e WS VAN / VFCA) = AN .

Shtim. . MYoaeR |, 2o = ImBI<= R . @
CgeB® = g=(7) =2a7) = YeInd)
S R°CITmd®. @
@O,@ = Im(P3=<IRZo .



